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Attempt all questions.
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- 1. (a) What do you mean by Tax avoidance? Explain differences
between Tax Avoidance and Tax Evasion with the help of
" asuitable example.
F IRER & AT T GIHA 7 A I Y

BT ¥ Y YReR T4 T S9aaT § 3 99ese| 8
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(b) Mr. Arun of 23 years is a foreign citizen. He is employed
in Mauritius. During April 1, 2013 and March 31,2017, he
was in India for more than 365 days. He wanted to visit
India during the calender year 2017-18 for 290 days. He
had already visited Kolkata from 15th May 2017 to 14th

September 2017. For how many days maximum he should

stay in India during the previous year 2017-18 so that his

tax liability is minimum? _
23 gt oTEer W faReft TRE ¥ 9 Wilvw A
HRE ¥11-4-2013 & 31-3-2017 & 19 I8 WRA F 365
¥ oiftr T w11 98 davst af 2017-18 § ARA 290
7 & afts & for@ o =rear B 1 98 15-5-2017 /
14-9-2017 T HIAHET © IHN o | I8 fhaq rfrehad
fo=it a6 wwa ¥ @ fed o adf 2017-18 & fod Saat
gl e & 7

Or (31an)

(a) Is having status of non-resident beneficial or is it beneficial
to have status of a resident, if an assessee has income
majorly from abroad. Justify your answer by 'giving a

suitable example.

- AfErt Rafa 29r ariue & ar far & Rafa
BT ATYe ¥ afe FefRedr @t o 9er dk W S ¥
¥ dl? SUYE OSSR ERT A Sl =it
HIT | 7

(b) How will tax liability will be calculated if an Individual has :
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Case 1 : Agricultural income of Rs. 5,00,000 and income
from other sources as Rs. 6,60,000
Case 2 : Agricultural income of Rs. 4,500 and Income
from other sources of Rs. 5,00,000
FRIAT 58 YHR TR @ T AR T Al @
fafr 1: FR o1 5,00,000 T T SR I Al 4
I 6,60,000 T T
fafr 2 : Y M 4,500 BIA T S 37 Al F A
5,00,000 ¥ : 8

2. MrY is offered an employment by a company in Delhi with
the following two alternative packages :

Particulars ; : Offer 1 Offer 11
Basic Salary 6,00,000 6,00,000
D.A. 3,64,000 3,00,000
Bonus 90,000 90,000
Hostel Allowance for one child - 15,000
Cost of education of a childina
school run by employer 15,000 -
House Rent Allowance :
(rent payable 1,00,000 p.a) - 1,20,000
Rent Free Accommodation Owned by Employer -
; MedicalAllowarice : - 20,000
15 Reimbursement of medical Bills 20,000 -
- Hire charges of furniture 10,000 -

Suggest Mr. Y, which option is more beneficial for him.

Y & Rl 3 uF F fe @ dsfead dae stEal W
Rl BT AHYT | B
1214 3 P.T.O.
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R AW 1 e 11
I daq 6,00,000 6,00,000
qEMs Al 3,64,000 3,00,000
CIE L] 90,000 90,000

Th g & (¢ BEmEad A« % 15,000

W UF g e @ e

it g0 & S @ R 15,000 -
T foRmar s (e

A 1,00,000 TTHF) = 1,20,000
T gt S e & @i -
ffeaa wr - 20,000
fafereia oo 20,000 R
FerER o e 10,000 =
Y & geEt % @F @ few sas o surr amue
g 15

Or (\‘N’ﬂ) ;

What are the tax planning devices available to an employee
with respect to the following benefits under the Income Tax
Act? Discuss the following : ;

(a) Education (b) Food

(c) Transportation.

AR ARTET & a=ria v & aedl § waftaa foedr
ﬁar&aﬁmmﬁuﬁmww%?
HINT |

(a) frem cb)%ﬁvﬁ

(c) ArcmTd i5

(a) Mr. Amar works in an IT company. He purchased a house
property in Bengaluru for Rs. 30,00,000 on 01.07.2017.
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He purchased this property jointly with his mother. Mr.
Amar has taken a loan of Rs. 25 lakhs @ 10% p.a. on 30
June 2017 and his mother is a co-borrower in this loan. His
parents live in this house currently. Mr. Amar has income
from salary of Rs.18,00,000 p.a. He also has income from
interest on securities of Rs. 50,000. Suggest Mr. Amar as
to how he can reduce his tax liability.
IR T IT HH § S T 1 98 1-7-2017 Bl SGE
F 30,00,000 T ¥ TH FHM T @I T | TE
TR SEY ST AT ® 9 G 9§ @ 3
T frT S§Y 25,00,000 H FOT 10% T a6 W
30-6-2017 Y fovaT ¥ T 3@ WO H @ AT HE-
SUREG! & | 9 qHH ¥ SHD AIT-Ridr © W© §1 IR
N A A T 18,00,000 iy I ¥ wfersgferdt & S®
ma&sooooa%mﬁ%lwaﬁwm
HRIAT B Y FA H G 8 8
(b) Explain the tax treatment of Interest on borrowed capital

in case of self-occupied property.

T-ARTER T & IHe 7 IUR Joit W A 6 I

9T §HHART | ‘ 7
Or (319)
Mr. Rishabh has two house properties which he uses for his
residential purposes:
Particulars House I House II
Municipal value : 50,000 70,000
RY 60,000 80,000
Standard Rent 70,000 94,000
1214 5 BIEXD.



Municipal Taxes 4,000 6,000 If he uses his own money, he will lose interest @ 9% p.a.

- Expenses on repairs 2,000 4,000 which he would have got by depositing in the bank. Assume
Insurance premium : 1,000 2,500 applicable tax rate to be 30%. Suggest the following :
Year in which loan taken for purchase @) Whether he should use his own money or borrow

Showsd ; ; _ N o money fron} bank? State along with reason.
Interis:roznollo;nl;;ald during the previous 45.000 60.000 (i) By which date he should purchase the plant and install
A dvzlse Mr. Rishabh how he can plan his tax ;iabili ty. ¢ it? Will it make any difference if he purchases the asset
HOT D UG & THT TURT R ge AT ST & ' in the previous year but does not install it?

N £ < ST AR AR { FT 20,00,000 ST I 717 6oy
R _ WL T IO W ¥ TE 6,00,000 59 F UF T G @l &
TR i e 50000 70,000 HIT @1 1 98 A1 A S O e e €
Fiy 60000 80,000 ‘- ¥F q 12% AT W HT  THAT B AR TE S Y
L S 70000 94000 T ST @ T SHHT 9% Ry A = @ wfy ¥ W
TR A 4000 6000 O T § S S AR W T R 30%
WA W &G 2000 4,000 A | . _
dmr fiftrs 1000 2,500 T gemes - .
R O wem whed & R s Rew 1998 2004 0) BT wfew Sy B o o Y wgE o
o af 2017-18 & W T W TRY o 45 F A A A
= T 45000 60,000 (ﬁ)aﬁmmﬁm@ﬁmwﬁaaﬁﬁ
T F T GRU 5 97 ot wdaar fhE weR W?wmmwmaﬁ%@aﬁﬁ
B | O W A § g e a8
" ! / f " (b) Discuss the provisions relating to taxability of income by
4. (a) Mr. Kamal has been eamning profit of Rs. 20,00,000 in a way of gifts of money, immovable property and movable

year from his telecommunication business. He is thinking' : property. o i

of buying a new plant for Rs. 6,00,000. He can either use o Y, oW Wi e 9w T & SUERT T 31 &t

his own money or borrow from bank at 12% rate of interest. HIT | TP Faem=; & e T 7
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Or (3rea)

(a) Mr. Zubin, a retail trader gjves the following Trading and
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Profit and Loss Account for the year ended 31st March,
2018:

Particulars Rs. Particulars Rs.
Salary 20,000 Gross Profit  4,50,000
Rent and Rates 45,000 Other receipts 50,000
Printing expenses 15,000

Depreciation 1,20,000
Interest on loan 1,50,000
Property tax 30,000
General Expenses 10,000
Net Profit 1,10,000
5,00,000 5,00,000

@) Salary includesRs. 10,000 paid to his brother, whichis
unreasonable to the extent of Rs. 2,000.

(ii) The whole amount of printing was paid in cash by way
of one time payment.

(iii) Rent and rates includes sales tax liability of Rs. 3,400
paid on 07.04.2018.

(iv) Other general expenses include Rs. 2,000 paid as
donation to a Public Charitable Trust.

(v) His turnover for the previous year 2017 — 2018 is Rs.
1.10 crore, received by way of account payee cheque.

You are required to advise Mr. Zubin whether he can opt

for presumptive taxation under section 44AD and if so,

whether it would be beneficial for him to declare income

as per section 44AD. Assume that the whole of the amount

of turnover is received by account payee cheque during

the previous year.

1214

T G AN fro i 31 W, 2018 A R
& fr=r amRe @ar o At @ aar @

o To faawon %o
- 20,000 Hha AH 4,50,000
g g 45,000 I gifaqar 50,000
B 4 15,000
TeTd 1,20,000
FT W 1,50,000
Tl g 30,000
T g 10,000
ae @ 1,10,000

5,00,000 5,00,000

() I A U W B QY 10,000 TYY qATT &
S 2,000 $F & &R T SR 21

(i) BE P T A HS & TE THYT YA |

(iti) foptrar @@ X H fepa T <TaT 3,400 T |l
T S 7-4-2018 B PAW IR §F TE |

(iv) o7 9T g ¥ grdeiee emid || & fRar

TE 2,000 TIF FFERIT
(v) 9o 9 2017-18 & IHHI 1.10 FAS T 3G o1 S
9% TR U g |
et o A @ w@me S & 6 a9t @us 44AD
4 G HREET & faeeT dd ) Al & @ @
GUS 44AD % IEU I AR HET I [T ATHIL
ET? ¥8 WY 6 e av ff g smas 9% gn
<t H T AT . 8

(b) Discuss the provisions relating to taxability of income

by way of interest on securities and winning from

lotteries. s
9 PTEO.



AR & offq T TRy W A @ o @ R
¥ grafyg yEaE & e S 7

5. (a) Is purchase or construction of residential house property

one of the effective tax planning tools to reduce tax on
capital gains? Explain the cases and also the difference in
the method of claiming exemption.

ot AT WX R Y T b foTg T ST 6 Fei
N Gl T A Th T F PR SR @2
AEl H GAET AT BS H Q@ B B addl §
IR | TR0 8

(b) AB firm is engaged in agricultural activities. They have

1214

urban agricultural land. The land has been used by the
firm for cultivation since 2008-09. The firm purchased the
land for Rs. 2,00,000 in July, 2007. Both the partners agreed
to sell the Land for Rs. 30,00,000 on 15th November, 2017.
In order to claim exemption under section 54B, they agree
to buy new agricultural land for Rs.25,00,000 on 20th Feb,
2018. Can they reduce their Capital Gain? Ifyes, by how
much amount? Suggest how they could have planned their
activity from beginning with regard to form of organisation
to save their capital gain tax. The CII of the year 2007-08
is 129 and 0f 2017-18 is 272.

AB w1 gty niafaftef # o 81 b 1 9l g
T ¥ 1 39 9 W 7 2008-2009 F FA-aTSt W B |
o I 9ty @Y g 2007 F 2,00,000 F @ a1 | HH

3 Y aTEieR i @t 30,00,000 T F 15-11-2017 Y

I H 9 T | @S 54B § G T B [T 20 B,

10

1214

2018 & I UH 7% FHT A 25,00,000 TIF F A H
IR & T | AT IR GOl AT HA- & S Al
ar frae 97 gIRe & oW & & Ot W W A
A & fog 3 §red & TEw & FEtud ot
HEATEr BT FES T8 B Ghd & | a9 2007-08 EH

CI1 129 & 3R 2017-18 &I 2721 ‘ 7
Or (rgan)
(a) Discuss whether the following are tax planning or tax
evasion tools :

(1) The seller of capital asset shows lesser value than the
actual price for which asset is sold.

(i) The taxpayer chooses the higher of the two costs:
actual cost of purchase/construction or fair market
value as on 1.4.2001 in respect of assets purchased
before 1st April, 2001.

(iii) The taxpayer avails any of the two options in case of
listed securities (1) 10% rate of tax without indexation
and 20% rate of tax with indexation.

(iv) Mr. A gets bill of higher amount made than the actual
cost of capital asset to reduce the taxable capital gain.

(v) Mr. X sells his depreciable assets after using for more
than 15 years and treats the gain as long term capital
gain.

At TRt R S e aTn s

MR

() Iofr geaicr @ fskhar qwafc &t arafas w g
q o1 @ &

(ii) T TR & <1 Al d § T aTe gl &
F o fafor & arafas @ a1 Sk IR
T 1-4-2001 HF 3T FHfdl & faQ S 1-4-2001
q TEd BT B TS|

11 PTO.



(i) eeTaT EEa TR & A A AT
e dar & ¢ Gl & AT A B R/ 10% A
G & W B B R 20%

(iv) A T §ft @ B BT FE & fog IO
TR T T A AR @ e SHarw
g

(v) X A ederd A weaferdl & 15 I« ah TN
FA B U 9T T AT AW A qafarr o
A AT E | 7

(b) Mr. X has the following assets :
- Particulars Date of Rs.(Cost) Sale Price Date of
purchase Sale
Gold 1572012 150000 840000 125.17
Debentures 952006 60,000 120000  7.9.17
Listed Shares ~ 3.8.14 120000 800000 3192017
Find out the capital gain and suggest how he ca‘?i%lan his

sales to reduce the tax burden. The CII of the year 2006-
07 is 122, 2012-13 is 200, 2014-15 is 240 and 2017-18 is

272.
X @ fr=r gefear @ ¢
Tt FH A ferr R @
R (®o) T ol
LIl 1572012 150000 840000 125.17

EXLES 9.5.2006 60,000 1,220,000 4 1911
. S0
'ﬂ?ﬁ'ﬂ? S 38.14 120,000 800,000 3+.92017

o w P aar gaEe 5 B X 9 T @
BRIRE T & B 9K HT & T & | I 2006-07
T CI 122 %, 2012-13 T 200, 2014-15 & 240 AR
9017-18 T 272 ¥ 8
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B Com (Hons) Il Year, Semester-lll (Academic Year 2018-19)
Skill Enhanced Course Paper 3.5(d) Personal Tax Planning Unique Paper Code No. 22413304 Dated 29-11-2018
Total 5 Questions; Max Marks 75; Time 3 Hours Respect your Rights to Differ
Solution by Dr SB Rathore, Associate Professor of Commerce, Shyam Lal College # 9811116835

Marks
Ql(a 8 Tax Planning; Difference between Tax Avoidance and Tax Evasion
Q1l(b) 7  Arun's Stay in India for 123 days (15-05-17 to 14-09-17)
During 01-04-13 to 31-03-17: More than 365 days stay in India
He is RNOR (not satisfying Additional Condition)
To have Min Tax liability, should not receive Foreign income in India + No income from Business Controlled from India
orQ1(a) 7  Status of Non-Resident better if mostly Foreign income

or Q1 (b) 8 (i) Agri Income Rs. 500,000 + Other Income Rs. 660000 Partial Integ (Rs. 160500-62500) = Total Rs. 100940 incl EC
(i) Agri Income Rs. 4,500 + Other Income Rs. 500000 Tax on Rs. 500000 only = Rs. 12875 incl EC




Q2

orQ?2

15

15

Basic Salary

Dearness Allowance (Forming part of Retirement Benefits?)
Bonus

Education Facility @ Free upto 1000 pm if Employer's 15000 - Rs. 1000 pm
(600000 + 90000) * 15%

(20000 - 15000)

Rent Free Unfurnished Accommodation in Delhi
Medical Bills Reimbursed
Furniture Hire Charges

Basic Salary

Dearness Allowance (Forming part of Retirement Benefits?)

Bonus

Hostel Allowance 15000 - 3600
HRA: Least Amount Rs. 40000 (Rece 120000; Paid 100000; Excess 40000; 50%)
Medical Allowance

Tax Liability Planning with respect to
Education, Food, Transportation

Offer-1
6,00,000
3,64,000

90,000
3,000
1,03,500
5,000
10,000

11,75,500

Offer-2
6,00,000
3,00,000

90,000
11,400
80,000
20,000

11,01,400

170105

147208




Q3(a) 8

Income from Salary
Income From House Property
GAV / NAV

Less Intt on H Loan (Rs 25 Lakhs for 9 Months @10%) * 50%
Income from Other Sources

He can take the benefit of Sec 80C; Sec 80EE, if intt exceeds Rs. 200000

He should own the whole property, rather than joint with Mother

Q 3 (b) 7  Loan from Institutions, Sec 24, Sec 80EE
Max Deduction 200000, Renewal (Rs. 30000)
orQ3 15 If House is Self-Occupied

Gross Annual Value
Less Intt on Housing Loan (Max Rs 30000 / 200,000)

If House is Deemed to be Let-Out
Gross Annual Value
Less Local Taxes Paid

Net Annual Value
Less Std Deduction 30% of GAV

Less Intt on Housing Loan
Deductions u/s 24

Income from House Property

House-1

House-2

Better Option, if House-1 as Deemed to be Let Out & House-2 as SOP

18,00,000
Nil
93750 -93,750
50,000
GTI 17,56,250
House-1 House-2
Nil Nil
30,000 60,000
-30,000 -60,000
House-1 House-2
60,000 80,000
4,000 6,000
56,000 74,000
16,800 22,200
45,000 60,000
-5,800 -8,200
Option-1 Option-2
Self-Occupied Deemed
-30,000 -5,800
Deemed Self-Occupied
-8,200 -60,000
-38,200 -65,800




Q4 (a)

Q4 (b)

8

7

(i) Should take Loan / Self-Money to purchase New Plant

Income From Business Before Dep

Normal Dep @ 15% for more than 180 Days
Additional Dep @ 20% (Telecommunication)
Buying with own Money- Opportunity Intt 9%
No Intt on Loan to be paid @ 12%

Post-Tax Income W/o any deduction ... Tax @ 30%

Income From Business Before Dep

Normal Dep @ 15% for more than 180 Days
Additional Dep @ 20% (Telecommunication)
Depositing Money @ Intt 9%

Intt on Loan to be paid @ 12%

Post-Tax Income W/o any deduction .... Tax @ 30%

553110

Income
Exps

547548

Self-Money
20,00,000
-90,000
-1,20,000

17,90,000

12,36,890 Self is Better
Loan Taken
20,00,000
-90,000
-1,20,000
54,000
-72,000

17,72,000

12,24,452

He should invest own money (Gained by Rs. 12438) Income Outflow 18000 - Tax 5562

(i) Should Purchase, install and use the Plant by 03-10-17 to claim Full Dep (29+30+31+31+28+31)
if purchased in previous year but does not install - Then Dep can not be claimed

Taxability of Income: Gifts / Immoveable Property / Moveable Property



orQ4(a)

or Q 4 (b)

8

7

Income from Business / Profession
Net Profit as per Profit and Loss A/c
Add Inadmissible

Salary
Printing
Gen Exp (Donation)
GTI
Less Deduction U/s 80G 50%
TI
Income from Business / Profession
Section 44AD (Rs. 1.10 Crore @ 6%)
Less Deduction U/s 80G 50%

1,10,000

2000
15000
2000

1,29,000
1,000

1,28,000

6,60,000
1,000

6,59,000

He should not opt for Section 44AD ...But Tax Audit will be there and Restriction of 5 Yrs

Taxability of income by way of Interest on Securities / Winning from Lotteries

Better



Q>

Q5 (b)

orQ5(a)

or Q5 (b)

7

7

8

Purchase or Construction of Resi H Property - to save Tax on Capital Gains
Section 54, Section 54F

Sale Proceeds of Urban Land

Less Indexed Acq Cost Rs. 200,000 * 272 /129
(Cost Inflation Index 2007-08 : 129)

Less Exemption u/s 54B not allowed to Firm

Better to purchase of Land by both the Individuals ..then 54B can be availed

Tax Planning / Evasion

(i) Evasion
(ii) Planning
(iif) Planning
(iv) Evasion
(v) Evasion
Capital Gain Selling Price
Gold (LTCG) CIl 2012-13: 200 8,40,000
Deb (LTCG) No Indexation Allowed 1,20,000
Listed Shares (Long Term @ 10%.. without Indexation) 8,00,000
Listed Shares (Long Term - Exempted) if STT Paid 8,00,000
Listed Shares (Long Term @ 20%) 8,00,000

30,00,000

4,21,705

25,78,295
0

25,78,295

Indexed / Acq
2,04,000
60,000
1,20,000

1,20,000
1,36,000

By Postponing the sale, Tax can be avoided. As there is no tax on Notional Basis

Section 54EC - Purchase of Capital Gains Bonds / 54F Resi House

Gain
6,36,000
60,000
6,80,000

13,76,000

6,80,000
6,64,000
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